N = 0l & At & Ml A

20178 & =04 LBHSIH 23AIE A &
A 23AIE A A
dM: B B2E L 2l
?4e?: 2EARAXN2I (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A ALE & 1,507,030 1,378,206 128,824
& % 2 868,233 859,934 8,299
SEN2Y 868,233 859,934 8,299
M Izel 45,769 129,550 A 83,781
101 @14 dl 21,649 20,231 1,418
4 D12t ZE2XREES 21,649 20,231 1,418
Odaz, HEL g2 2
51,7603 = 121 » 248 12,837
OxFs=¢ 51,7603 = 101 » 52 2,692
O¢xRESzII=+E 51,7603 = 121 = 12& 622
O EF Il 400,000& * 1@l = 23| 800
O4UEE= (A2, H3,0&8 &)
16,149, 1202 * 141 » 9.85471% 1,592
O&&Z 51,7602 = 30 * 730 /365 3,106
201 Yete | 22,200 106,599 84,399
01 At 22l 14,580 49,140 A 34,560
Oflget=&Hl] 9,480
Ot =&z 427 40,000,000& = 10% 4,000
O BSAEAMEAL OH EE HES HE 5,000
o AIEAEA S SEML MA
5,000& = 6000H 3,000
o =3®AE 282 ML MH
5,000& = 40004 2,000
O &7 el 120,000& = 23] » 2CH 480
Olm=tl] 4,600
O=AXN 224 Hg=s & HHs2Y
3,000,000& * 14 3,000
OREYURAN 22K 2R= 8
200,000& = 42! = 23] 1,600
Olgxz] 500
OLE HAMA HZ JXE 500,000& * 13 500
02 =224l 7,620 56,959 A 49,339
o222 ¥ HMAll 7,620
OHAMREHZE U&= 3208 * 2,00004 = 33 1,920
OCoHY HMER
60,000& = 60 = 128 4,320
OXNSsM HE4H 8234 A=
20,000& * 1A + 128 240
OXNsRI 10,000& = 200 = 12& 240
ORdES =M= 75,000 « 123 900
202 O4dl 1,920 1,920 0
01 =L 4 Hi 1,920 1,920 0




EX: S3AIEAISE A
ZH: 25 2ZE 2 2el
?4e?: 2EARAXN2I (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
O2stsX e X o
120,000& = 8021 * 23| 1,920
A & ZAFS 168,960 190,980 N 22,020
U2 A Y| 21,520 13,620 7,900
AP 22| H| 20,200 11,300 8,900
OYz QN Ye 2 EL8 SUE
20,000& = 50 1,000
OF&HM g2 282 I 2¢
40,000& * 25004 1,000
OFsN A= 2 22 700,000 * 13| 700
ONZ&=s MNE 20,000 = 30 600
OgAIE A2 7Y 400,000& = 13 400
OStAI B U & 2B & HI& 20,000& = 5008 10,000
QB X OHHE M & 1,000& = 1,0000H 1,000
O =&3& Mz 1,000 = 6000H 600
OsAaMAHE sS=M0IL HEd g2t & 29
gl 4008 = 5,000& * 23] 4,000
OsaMAHE s=HOILE & 2=08f
100,000 * 30§ = 33| 900
S=229H| 1,320 2,320 A 1,000
OSHAI &S E 25| 5,000& * 2008 1,000
OStA|BE U A OFHLH A Y| 320,000 = 14! 320
[0: 1] 10,600 10,600 0
01 2L Y| 2,400 2,400 0
OgoletAl 22 A M &I H]
120,000& = 209 = 1 2,400
=Xl &0 d] 8,200 8,200 0
OgoletAl =22 AH &I H]
1,640,000 = 5¢QI 8,200
=4l 1,000 3,500 A 2,500
24l 1,000 3,500 A 2,500
O - =4 MY Hx=228 7¢
500,000 = 23| 1,000
ot A= 47,840 41,260 6,580
012-01=2 2| O H 20,000 20,000 0
OSoleAb @FM ZIFAF O HI
2,000,000& = 10¢! 20,000
07 QBl=&E 0 bl 10,960 5,200 5,760
O & AMARR =& O4dl 120,000& = 8¢l 960
OFEUM =222 =& oI
200,000& = 2090l 4,000
OsMMHE DA} =3 0WHI
100,000& = 10! = 33| 3,000




A 23AIE A A
ZH: 25 2ZE 2 2el
?4e?: 2EARAXN2I (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSHMAE &= AMOIL Ol
100,000& = 109! = 33| 3,000
09 HALAHIEA S 5,780 3,560 2,220
OBHAI U M ALRIE & AtHI
70,000& * 89l = 2 1,120
OAOIB St & M AL & Al
70,000& * 491 = 1 280
OSAMAY DESAs BH +g
100,000& = 521 = 33| 1,500
OSdMAY s=MOILL ST =F
120,000& = 821 = 33| 2,880
NJEEd=s 11,100 12,500 A 1,400
OBIAIHUFE A& S 100,000& = 70¢! 7,000
OAOItH S e T Alafg 100,0008 209! 2,000
OSQIBAL L2RAM EDILR 24
150,000& * 14& 2,100
307 gl2tol & 88,000 36,000 52,000
02 It M AHE X 34,000 32,000 2,000
Odlls A M= 12,000,000& * 14 12,000
ogolstd ol MEZZOY 29
22,000,000& * 14! 22,000
04 QIZFHALAIH B = 54,000 4,000 50,000
OFetH HM=83 <& 4,000,000& » 14 4,000
O&oletA st=01sl =l 20,000,0008 * 13l 20,000
OEEL =8 23 ME= MOILE
30,000,000& = 13l 30,000
&KX AlZFH| 422,595 401,092 21,503
101 @144 Hl 87,555 54,057 33,498
04 JIZHHZ2XREES 87,555 54,057 33,498
OXJAEES 0/l o=y
150,000& = 501 » 20 15,000
O&A=AHA 8& 0ldal)] o2
200,000& = 5¢1 = 10 10,000
OO0rda 22 & I8y 1,930,000& = 14! 1,930
Os=X2e A2 (HSaHLH L oWl X
ZHAE) 15,680,000& * 14 15,680
Oatthzate] A2 (0FI M= L ==HA
IAS) 15,680,000 » 14 15,680
OM=Zg 22 2HAlH| 500,000& = 14 500
OM=&Y f 2or=Hl  300,000& = 14! 300
OgZ0lst& J12HH 2124 Hl 51,7608 » 120€ 6,212
OUMee AUHEES(AY. ¢33, 08 &)
604,000& = 14 604
O&MFAZ BRlA2 Qe
51,7603 = 191 » 248 12,837




A 23AIE A A
dM: B B2E L 2l
?4e?: 2EARAXN2I (9 ® =)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=5=+¢ 51,7603 = 121 » 52¢ 2,692
OdXt=sSFIHt+=< 51,7603 = 12 = 128 622
OZEF Ol 400,000& * 23 800
O4NBEE (A2, A3, 1 & TH)
16,149,120 * 121 » 9.85471% 1,592
OasFAZ 22| 0% gx3
51,7602 = 30 * 730 /365 3,106
201 L2l 123,090 34,235 88,855
01 At 22l 36,260 14,150 22,110
Ogala A 2H W 700,000& = 204 1,400
Ostaa &I ¢
50,0003 = 352 A + 43 7,000
Ost&EA MEM & YetH +
30,000& = 10904 = 102l 3,000
oMdIIss 7 (20L,50L)
1,000& * 1,5000H 1,500
Ogz=4& 2=Z 25,000& « 12& 300
Oagotdae| Xt w2 120,000& » 23| 240
OxZdANr2 100,000& * 3JH 4 * 43] 1,200
Oagordzte] = 375,000 * 123 4,500
OdJ|etEzte] = 200,000& = 12& 2,400
OsZlletd el ez 160,000& * 12& 1,920
ORo&dH =2 800,000& =« 12& 9,600
Oolum=stl] 3,200
OZ23d&cIA Hg=s & HYetd
200,000& = 82! = 23] 3,200
02 2324l 86,830 20,085 66,745
O[AIE &8l RXHl] 30,550
O&OZDI HH &MU
1,194,993  502¢ 64 3,600
OXd= ML) &F
1,194,993 » 278.944 304 1,000
OM=&E JIAH 225 =/t
3,000,000& = 14 3,000
O As&EX |FXE=H 25,0002 = 40CH 1,000
O=%3 32 ¥ ®|X 22
400,000& * 5 A 2,000
O 2aeA LSA4E KX
450,000 * 202 900
o4& 3+ +8 100,000& = 1000 = 13l 1,000
OgEa &I ARE =4HH|
300,000& = 63l 1,800
OJIAA J1DI SX2el 100,000& * 53 500
OXNsSMERN & 244 RAH|
135,000& * 10CH 1,350




A 23AIE A A
ZH: 25 2ZE 2 2el
?4e?: 2EARAXN2I (9 ® =)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O ZAlJt0llet =& Hl 100,000& * 10CH 1,000
O Zara 2 AQYUSAlE 2l
900,000& * 204 A 1,800
Ost¥a 22x+H 200,000& * 22 * 53 2,000
OWAH= =cltl 200,000& =« 3CH 600
SEX, 22X A KA 22l
200,000 * 15JH A& 3,000
OJNHzEs "Xl 25,000& * 140 3,500
OA&=E dII&Hl wX2el
2,500,000& = 14 2,500
OlB=22LHA] 50,780
ORAX HIIAMNES 2,500,000& = 12& 30,000
OSR&EX &% AMEZ 1,000,000& * 128 12,000
O AgotMHE S 100,000& * 13l 100
OLHMF=AHXN 2323 100,000& * 128 1,200
ONUHEAMNSE &=k AER
15,0002 128 180
ONUHEAMNSE HIIRS
150,000& * 1204 & 1,800
ONEO0l=0lAId 2P U L 28
= 4,000,000& = 14 4,000
OHAEXY BEE= 1,500,000& * 14 1,500
Ol zHl] 1,000
O &AF=AXI 22l A H 28|
1,000,000 * 14 1,000
O[xtgs. detdl] 4,500
Ost=XegdAZHl 2,500,000& = 14 2,500
OstEXxt&=altl 200,000& = 103l 2,000
206 M= Hl 14,450 8,900 5,550
01 = Hl 14,450 8,900 5,550
O&Y, &dE 4 20 Mz P&
10,000& *10%Z = 123 1,200
O&UZE 3t =88 =2
2,000& » 1,5002 3,000
Oxd= & MO Yolls 9N 430 7
500,000& = 43| 2,000
Ooallx 3=2=2 2 3,000& = 1,000== 3,000
OxXZ= AMHE Hlzg32g 10,000& * 100X 1,000
O2Ag & ¢ = 2¢ 450,000& = 23| 900
OdAME=ANX 228 018D HY 2
2,500& = 700& 1,750
OAtE W HEE 25tz 7€
4,000& * 1000H = 43 1,600
401 AIEHI L 2 CHYI 197,500 303,900 A 106,400
01 A& HI 196,500 303,900 A 107,400




A 23AIE A A
dM: B B2E L 2l
?4e?: 2EARAXN2I (9 ® =)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O[AI&HI] 196,500
OR&EX M2 RXNE+=EH|
20,000,000& * 14 20,000
OZE& MAA ZZ2AEH #HE WX
2,000,000& = 34 6,000
oOgE& S JIY EHl 5,000,000& * 4042 20,000
Odaa Ms=ct0ld EXI3At
7,000,000& = 14 7,000
OHWAFAHX A2 T M
10,000,000& * 1JH 2 10,000
O&MFAR I U ZYI|P DI
50,000& = 504 2,500
O ==& HEH = 10,0002 * 2004 2,000
O &M Al2 LEDEH I WX S A
20,000& = 5004 10,000
OFHEAEA ANIEE2 E=
1,000,000& * 3= 3,000
OUAFAHN oA R A2 B
25,000& = 40m’ 1,000
ORI M2 M (SHU, g2 HE s
A MNRA S) 2,500,000& * 44 4 10,000
OSTHAIEE QLUAH Hel|(s=2 8242,
2=2F AU 5) 5,000,000& * 201 & 10,000
OXx&d 8E 5 ==&
100,000& * 200 20,000
O 2MMse=Z &l 500,000& = 10km 5,000
Oe, A& MAZ RIS H X SA
10,000,000& * 14 10,000
OSR&EXN AZZ 2 H2WH S At
500,000& = 204 10,000
O 7&K OrM3HATH 5,000& » 2,0002 10,000
OalE =ZH&EX &X
40,000,000& =« 1CH 40,000
03 AIE 2 0H I 1,000 0 1,000
OSULAIFAEX AILFHI0l [HE S0l
1,000,000& * 14l 1,000
Ottt 33 22 230,909 116,334 114,575
101 1244 dl 24,160 9,520 14,640
04 JIZHHZ2XREE S 24,160 9,520 14,640
ONtet=2at 2 M= (UHI) 9=
4,000,000& = 33| 12,000
OE==x=d 0/ga) &Y 2y
600,000& * 2= 1,200
OO0rdst R2Ae 12 2,000,000& » 14 2,000
ODER M) MEXY o H2 ARY
4,480,000 * 23| 8,960




A 23AIE A A
ZH: 25 2ZE 2 2el
?4e?: 2EARAXN2I (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 53,899 36,814 17,085
01 At 22l 17,440 11,700 5,740
Ofget=&dl] 16,040
OSt&A AB2F A (ZoHAALOE, DEZ)
100,000& * 24 = 53 1,000
oItz HEZ= 400,000& = 123 4,800
ORolAY 442
200,000& * 3M A » 128 7,200
oMgI BF F(204 ,504 )
1,000& * 5000H 500
Ooidl M =&HE 1,000& * 1,0000H 1,000
Ooi&l M M2= ME
20,000& = 28¢ « 23| 1,120
OoH&l M =2 M= 70,000& * 30 * 23 420
Olum=tl] 400
ODIEZE Hois o X 7Y
200,000& = 22! = 13] 400
oldxz] 1,000
OZ2&d&cl Hdl dx=
500,000 = 2 = 104 1,000
02 =24l 36,459 25,114 11,345
ozze2 2 HMA 14,040

]
OHIIANEZ(DEZ, Zol &AL, OLE)

900,000& * 12& 10,800
O&+TANEBE(DEZ, 08
100,000& * 10E 1,000
Olet3d AdLsE =43
20,000& » 123 240
OCCTV QIHY 3 &AEE  100,0008 * 103 1,000
OSt&s B =AH(ZHUALDER)
200,000& » 10 * 53 1,000
Ol Ztl] 4,119
OHIXIEHHEH HLAHAZHI(ER)
2,000,000& =+ 14! 2,000
OXZd== J2H &%) SFU
1,398& = 400¢ = 204 1,119
OU=Jl, sE&U2I RFU
1,000,000& * 14 1,000
O[AM&EHI KXt 18,300

ANE=H(2X 2,88 8¢
|

|
,II2S 3t E4 200 s) 10,000
10,000,000& * 14
oAx&sE+ #Y 1,000,000& = 14! 1,000
Oltet23s& IHEsS E=
60,0008 » 30S 1,800
OZaa & Ades AL R
1,000,000 = 14! 1,000
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EX: S3AIEAISE A
HEM: 2SN 2= L 2
?4e?: 2EARAXN2I (cho &)
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OM=&Y JH A28 ¥ #£2l4|
1,000,000 = 2CH 2,000
O ZAlIJt0I 2t ==& HI 200,000 = 50H 1,000
O1NE2 st&4 KXNE S|
500,000 * 1= 500
O goldlAF Al S X 22l ]
1,000,000 * 1= 1,000
202 044l 400 0 400
01 2L Hl 400 0 400
O1nEx 220l 20,000& * 221 % 10g 400
206 M = I 14,050 11,600 2,450
1 M EH| 14,050 11,600 2,450
OX&4 AlHIZ2 "2 el 5,000& = 100 500
OXds HollsLH &M *<
500,000 = 13| 500
OZYX =4 =3 ¢ 1,000& = 1,000= 1,000
OorMig 22 ¢ 1,000& = 10,000 10,000
OlIs232d H3alx 24 EH|
1,000,000& ~ 1= 1,000
ods=xz=4g 98 2¢ 1,500 = 700&t 1,050
307 QI2t0| ™ 4,000 0 4,000
04 CIZ2tSH AFALS B X 4,000 0 4,000
OYallAAF Mid A AFS HI
4,000,000 = 13| 4,000
401 Al HI L £ 0HHI 132,900 58,400 74,500
01 Al& H| 132,900 58,400 74,500
Ox&E4 8E8s ==3H| 100,000 * 84= 8,400
OZ22 ]l &=2(LEIUHR, ol 5) B4
300,0008 = 100== 30,000
OZ2¢ W AIEE2 &M
(X2, 28 Mariy, 5t 2,500,000 * 4= 10,000
A S )
Oodlgdtola 2% 20,000,000& * 1km 20,000
OYadll&AlAF =B1HE 2| 20,000,000& * 14 20,000
OISt 23 SE AR B
4,500,000& * 1= 4,500
Onst2s T Yaiys 24
20,000,000 ~ 1= 20,000
Oltet23sd 33X 2PHUM S
4,000,000 * 5= 20,000
405 XHAHFEI S HI 1,500 0 1,500
01 XAt 2 E F S| 1,500 0 1,500
ou=x=Jl & #¢ 500,000& * 3CH 1,500
)| 22 2 B Y AS5HR 315,825 273,789 42,036




AN SEAMEML A
g G =22 23 28 ¥ dsHP
Belr SYEIDIBALRE (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
SAEIIIBAIE X3 127,717 120,567 7,150
S| A AY 93,985 88,105 5,880
201 B2 S 39,015 39,260 N 245
01 At 22l bl 31,900 34,325 N2,425
Olger+&tl] 26,400
O =AY 50,000& = 10& 500
O & ALK M= 27,000& = 1002 2,700
O&JIME AXZ4H| 100,000& = 63l 600
OTJl ZHEM 7¢ 15,000,000& * 14 15,000
OSIMAuTI 225 7
100,000& * 12E 1,200
OXEIIEYSR ===  150,000,000& = 2% 3,000
CHdHESE ==& 500,000& = 3A 1,500
OHHZs= 5,000& = 1802/ 900
Opos(EOH)AIAE BIZE 2tHXIe 28
20,000& * 50H 1,000
Ol=2tl] 2,800
O JtAJI0tAd S EH
7,000 = 421 » 100 2,800
olgxz] 2,700
OHEFY FUHXE 2,700
o SAJI(2m) 450,000& = 100  2¢& 900
o BX(158) 450,000 » 2CH » 2& 1,800
02 33524t 7,115 4,935 2,180
O[AIZ &Hl *XHl] 7,115
O &Jl=dl =2clbl 100,000& = 9CH 900
O Jtot |XlI2eltl 4,855
o JbADLOH 285,000& * 204 570
o ZXJL0t 285,000& * 13 285
o &J|Jt0¢ 2,000,000& = 22 4,000
OJIA& =X 22yl 250,000& = 2& 500
oot & E&E43 7Y 43,000 = 20kg 860
202 O 4l 1,800 1,800 0
01 =LHO I 1,800 1,800 0
OEJ| e Tt AL 044
120,000& » 521 = 32 1,800
206 M =8l 23,170 25,045 A 1,875
01 M= dl 23,170 25,045 N 1,875
OAHE LPGTRY 6,700 = 150m = 12& 12,060
OJI0AIE Mg 2¢ 4,000,000& = 14 4,000
OsAME # 3,000& = 1,000ke 3,000
ostg(AlR) 7Y 111,000& = 102 1,110
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2N SSAEANE A
M )| 222 2N B2 L MS5HP
CHel HAEIIDIBAIE K (S &2)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
oAs 27 2¢ 100,000 * 65 * 13| 600
Og(zlIaz) ¢ 8,000& = 300m 2,400
401 Al B 2 0HHI 30,000 0 30,000
01 A& HI 30,000 0 30,000
O[AI&HI] 30,000
OHE L2484 MNEIA EAHESFHI
30,000,000& * 14 30,000
FATINHMANER 33,732 32,462 1,270
201 et A | 29,332 28,582 750
01 AFR2t2l Yl 15,600 9,000 6,600
Olgetsgdl] 15,600
OxXUH 1,000& = 1,30000 = 10H 1,300
O B 50,000& = 100H = 13 500
oYY 100,000& = 1000 = 13 1,000
o892 NA 50,000& * 1500 = 23] 1,500
ONAE=E 10,000& = 8000H * 13l 8,000
O&EE2SEE 3,000,000& * 13 3,000
O &MAb ZHl MHE 2Ll 300,000& * 13 300
02 352494 13,732 2,732 11,000
Ol2222 2 MAl 2,732
020154 JI&2d SEE 20 1,732
o 2L 320& = 3,0000H 960
o 22 (S71) 1,930& * 4000H 772
OXANXE BE2 500,000& = 23| 1,000
O[AMEEHISAdl] 11,000
O JAA S HAIAE A2
2,000,000& * 14 2,000
OXAIA ZHS(LED) =& wA
300,000& = 304 9,000
202 04| 3,400 3,400 0
01 2LHOHI 3,400 3,400 0
O%Jlg2 ol 120,000& * 5Q1 % 33| 1,800
O2U= 0o Hl 20,000& = 521 x 16 1,600
301 PP B A 1,000 480 520
07 28l x=& 04| 1,000 480 520
O2017¢ J1&8 ™ 28 x=3H 0|
100,000& * 109! 1,000
ColHER L THHAD 29 188, 108 153,222 34,886
SHEAIZ 2 7,760 7,760 0
201 Bt A | 7,760 7,760 0
01 Al 221 1,740 2,240 A500




2N
X ZH -
L= B

el

A ZE a9 (3) - HRAY - By Ol &+ o4 il 2
Olger=&tl] 1,740
O RelZdl =2 145,000&  12&8 1,740
02 =224l 6,020 5,520 500
o222 % HAll 5,520
O&IINERZ 400,000& = 123 4,800
O&axTAER 25,000& » 12& 300
OCHY & M= 35,000& = 123 420
O[AMNA &I R XYl 500
O Z0W&AI2 FX2cltl 500,000& * 14| 500
Sos2d 180,348 145,462 34,886
101 @14l 91,103 57,172 33,931
04 D12t Z22HEE = 91,103 57,172 33,931
OPIZtH 22 HE ] 91,103
ossR #FH Ay
51,7603 = 191 » 248 12,837
o2y 2Ry 51,7602 * 121 * 248 12,837
OJIZHIER(ZHS)=2
100,000& = 121 » 200 20,000
OMEXoIRY
51,760& = 521 % 102 =33l 7,764
Og&E=2pE 2FY 51,7603 = 491 » 38 7,868
OJIZtHZ2E2X 4UiBEE =
16,149, 120& * 291 » 9.85471% 3,183
OX0E ¢URY 4UEE =
31,200,000& * 1Q1 = 9.85471% 3,075
OJIZHMI2EX =F5=¢
51,7603 = 201 » 52= 5,384
OJIZNI2IHZUS)FESEY
100,000 = 191 » 52 5,200
OJIZMI2 22X AXt==g
51,7603 = 221 » 123 1,243
OJIZMZ2IH M3 )H X+
100,000& = 191 = 123 1,200
OJIZH2 22X HE+Y
400,000& * 20! = 23| 1,600
OJIZHIER(ZHS) HEE
200,000& = 121 = 13 200
OS2 AHs Y 222 2N EAS
51,7608 » 30 » 2% * 7302 /365 6,212
OXlE 2=A &&=
100,000& = 256¢ = 1H 2,500
gt 84,045 80,290 3,755
01 At 22l 20,970 33,490 A 12,520
Olger=&tl] 19,490
oLJe=Ea g8 EEX 5003 * 4,50004 2,250
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2M: 2 A

HM: AT Y2 2o 2 L dsAHAP
c aQ
=

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

©)

O

1,000& = 1,3500H

g2EI 82 HA 5,000& = 1,3500H
A 7Y 50,000 * 409t A

g2 A4S MEM & 225 7

150,000& = 12&

=)
Ol

(OR==]s[k=] FOLEHD S =2 M

o 70,0008 « 2004 = 13
OXMARE 22 300,0008 * 474 * 13
O F=J| el 120,0008 * 23
O R0 £42 150,000 * 1204 &
oMFIIZBERY 1,000 * 70004
[T =Hl]
osS2 Nes 9 Hg 7Y

200,000 * 501 = 13
[2x2]
ot ¥4 Adx2

20,000& = 200 + 128

z29|
[B322 2 MM
OFIINEE 32,000,0008 * 14!
ON4+ER3 200,008 * 102
ORMYsE 228 18,0008 * 128
OQEHUWE HHIE L RS
60,0002 * 122
O AZorFEE s 5l 50,0002 + 13|
OUSE EPSW 2B2
3202 * 2,00004 * 33
OE=USTEEE 25yl 300,008 + 13
OEXNY RAUBAU(ZEE BINLREY
2) 600,0008 * 14!
OFIIGFMB EE  220,0008 * 128
OAWOFETE #E  320,0008 * 128
OZLINUA L HHB

el =8

200,000& * 12&
OC2=HelANd =Z2ae =8

330,000& * 6&

OJtAAE AL =8 700,000& * 1%

O[A & ZH KXYl

OXllgEadNeE FANEx

9,000,000

O ZAlIStollct +=&Hl
Ol¢EHl]
OEHEA HE HZH

300,000&

922,000&

1,350
6,750
2,000

1,800

1,400
1,200
240
1,800
700
1,000

1,000
480

480

63,075
49,366
32,000

2,000
216

720
50

1,920
300

600
2,640
3,840

2,400

1,980
700
9,900

9,000
900
1,152
922




2N

dM: JEE)| HEH oM BN L ds5HP
Sl ISR U BUHAY 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O&CZI, Mi=x=21,2IHE H=HI
1,194 = 644 * 33| 230
O[Xtg. detdl] 2,657
Ost=xd A=l 1,194 = 1104 = 123 1,577
OstEXE =cltl 90,000& = 104 » 12& 1,080
202 oddl 500 500 0
01 = LH o4 1l 500 500 0
OJlgt=a 29 2UAdl
20,000& = 501 » 5« 500
206 M= Hl 4,200 2,500 1,700
01 =8l 4,200 2,500 1,700
OM=ZHl 4,200
OEJIMEE+ ¢ 10,0002 *» 603 600
OMEZHDA T3 L A2 29
50,0002 * 203 1,000
OTAGA HEER Y
2,600,000& = 13 2,600
405 RHoHF S HI 500 0 500
01 AL EZFH S 500 0 500
Ot =Dl 500,000& =« 1CH 500
ll=22dg 242,348 162,509 79,839
Ol=z2 29 242,348 162,509 79,839
StES0lsa 2922 141,968 98,539 43,429
101 @124 Hl 22,819 20,675 2,144
04 JIZtHZ22XREES 22,819 20,675 2,144
O[#E=2xd] 22,819
OUlzZ 2 HAESSA Ba o
51,760 = 101 * 248 12,837
o0& Mxz=zgy o2
1,000,000 = 14l 1,000
OxFE+Y 51,7608 * 101 » 523 2,692
OdXtmrasY 51,760& = 121 » 15¢ 7
O BE FOtHI 400,000& = 23| 800
o4iEE2 2E3
16,304,400& * 9.85471% 1,607
O &E&3 51,7602 * 302 * 7302 /365 3,106
201 L2l 114,649 77,164 37,485
01 At 22l 85,966 47,160 38,806
O[get=&dl] 77,320
OHMAESSA BT U HEH
800,000& = 14 800
Ol0l=2 3t&EA & 72 800,000& * 14 800




A 23AIE A A
M Ds229g
Sl DIED 29 (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ollsz MYJIs&E F&  200,000& = 14 200
OaxT¥HZT BE= 10,000,000& * 13l 10,000
Ollzz &8 I3 M
3,000,000& = 14 3,000
Ollz2 22 243 g & M
5,000,000& = 14 5,000
0022 L HAESSA SR 448
600,000& = 123 7,200
Ol0ls2 ¥ HAEGHSA &MI|QHM2telH]
280,830& = 123 3,370
Ollz2 ¥ HAEGHSA Agortd2tel]
370,000& = 12& 4,440
Ollsz &I & UHHZ=
150,000& » 12& 1,800
Ol &=gs) 2718 3=
400,000& = 43| 1,600
Onl&EL U FH BRY
1,000,000& * 14 1,000
OJIEHS 9t & HEIAHMH
300,000& = 5004 15,000
O&20l=s &= 3,000,000& =+ 13l 3,000
OMZEO0IEDIOIE S ¥ Z1&
110,000& 12 110
OBIZE JIZ "Fo9 YA’ Yol M ¥
2t 20,000,000 * 14! 20,000
Olm=tl] 800
Ol0l=2 StUX TI= F& 200,000& = 49 800
oRg+¢] 1,100
Ols22Z IR &g
100,000& » 118 » 13 1,100
Ol=Md 7l 450
o0lz&X &I #s8 150,000& * 14 150
Ollz &3 ME FLH| 300,000& = 14 300
olgxz] 6,296
Olls&E 2&HI(3U)
5,000,000& = 14 5,000
Ollz2 ¥ HAEGSRA )| I
36,000& = 3CH = 12& 1,296
02 2324l 28,683 30,004 A1,321
Ool2222 ¥ HMAl 22,160
Ollza L HAEDRA MIIRS
2,000,000& = 103 20,000
o022 2 HAEGRA &4+5R2
40,000& = 123 480
Ollz2 ¥ HAEGHSA (AU HEE &
HdotR= 40,0003 * 204 + 12& 960
Ollsz Agotd H3lHI 60,000& * 13 60

_14_




EX: S3AIEAISE A
HH: Jzs22d
2 D=2 29 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O st=ets2Es A Y| 300,000 * 13| 300
O F4asEs A2 15,0008 ~ 2004 « 12€ 360
Ol 2Hdl] 1,523
OHNAEGIRA AZH| 735.90& = 2,000¢ 1,472
OUH=2 A=dl 1,3982 = 36L 51
O[AEZHI SXHl] 5,000
O0lzs2 & HAESRA AESKNES
5,000,000& = 1A 5,000
206 M = Hl 1,000 0 1,000
01 =4l 1,000 0 1,000
O 20s=2% WEINM F¢
1,000,000& = 14! 1,000
401 Al HI L 2 0HHI 3,500 0 3,500
01 Al & H| 3,500 0 3,500
ODlg2 X34+ MY S +23Y|
50,000& * 50 2,500
OB AMNCHEE Y| (ZIIHE &)
1,000,000 = 1Al 1,000
St S0l=2& SAISIMA 100,380 63,970 36,410
201 2Et24A Y| 90,500 54,590 35,910
01 AP 22| d| 89,260 49,840 39,420
OlgerE24] 88,000
O& 54 D18 ¢ A
20,000,000& * 23| 40,000
O RNz =X 0|0 J&8A
20,000,000& * 13| 20,000
ORDAXNANI} 22F C& A= J|HH
20,000,000& * 13| 20,000
Ost=9 =HM5H JI&EA
8,000,000& = 13 8,000
O[=2&Hl] 1,260
oSl 27 S|
7,0008 * 3% x 5 « 12& 1,260
02 B32%H| 1,240 1,240 0
Olz2222% HAI 1,240
OREYS2(2U) 320 « 2,0000H 640
ORRHEEZ ¢&2(=2AH) 3,000 = 2000H 600
202 044l 2,880 2,880 0
01 2L Y| 2,880 2,880 0
Olf0ls& ns & #x ok
120,000 = 2021 % 123 2,880
301 et A= 7,000 6,500 500
07 2B =04 4,500 4,500 0




A 23AIE A A
M Ds229g
oo Dz =Y (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ostd& & ALEHAHI
100,000& = 921 = 53| 4,500
NJIEEd=s 2,500 0 2,500
O&Al2 &0 &It 24|
100,000& = 109! = 23| 2,000
OMNAl =5t 2aHI 500,000& = 14 500
HE2LAZHI (2SHAIE AL L) 80,624 81,974 A 1,350
2l 80,624 81,974 A 1,350
2gJ18E 1234l 32,195 34,555 A 2,360
201 24l 22,275 23,635 A1,360
01 At 2t 2l 22,275 21,975 300
Olger=&tl] 6,000
ORAN2E SHAHL 6,000,000& * 14l 6,000
og+¢] 13,300
OYX o =xX4+g 50,0008 * 29! « 133 13,300
Ol3l] 2,975
ORAN2E SHAHA  7,0008 = 521 = 85 2,975
202 04l 5,000 6,000 21,000
01 = LH 4 Hi 5,000 6,000 A 1,000
O[=2uUobl] 5,000
ORA2E SHUAHL 20,0008 = 521 = 50 5,000
203 YR =2t 4,920 4,920 0
02 It =AY 720 720 0
OIS R =& 40,000& = 18¢l 720
04 FN2ELRZ=TH| 4,200 4,200 0
ORNM2Y gRF2HI 350,000& = 12& 4,200
Z3REE JI234l 11,497 10,497 1,000
201 et 5,497 5,497 0
01 At 22l 5,497 5,497 0
olger=&4l] 4,300
ORA2E SHA L 4,300,000 * 14l 4,300
Ol=&Htl] 1,197
ORA2E SHAHL 7,0008 * 32 = 57 1,197
202 Oddl 6,000 5,000 1,000
01 = LH 4 1l 6,000 5,000 1,000
Ol=udobl] 6,000
ORAN2E SHAHL 20,0008 * 521 = 60 6,000
deog=ag JI=234l 16,476 16,426 50
201 Let249y| 12,276 12,226 50




2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa HDS

01 At 22l bl 12,276 12,226 50
Olgetgd|] 4,906
OFRNESE SHHA 4,906,000& * 14 4,906
Ol2&Hl] 1,470
OFRNESE SHHA 7,000& = 721 = 30 1,470
Olegs¢] 5,900
(OIS =y 50,000& = 121 » 118 5,900

202 O B 4,200 4,200 0

01 2L Y| 4,200 4,200 0
ORNESYE SHHA 20,000& = 721 = 30 4,200

otdS0s2E Jl2dl 20,456 20,496 AN40

201 Bt A | 16,136 16,176 AN40

01 AP 2t 2l Yl 16,136 16,176 AN40
Olgetgd|] 6,000
OFRNSESHAH & 6,000,000& * 14 6,000
Olegs¥] 5,900
(OIS =y 50,000& = 121 » 118 5,900
Ol2&dl] 4,236
OFRNSESHHAH A 4,236,000& * 14 4,236

202 04| 4,320 4,320 0

01 2LHOHI 4,320 4,320 0

ENSY SHUAH A

0,000& = 39 » 62 x 12& 4,320




